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Part One: Obligatory set  
Using economic concepts and techniques (7 points) 
1) A trader A imported the ton of an agricultural product from a state that supports agricultural exports  at the cost 

of  100 m.u. and a trader B imported the ton of the same product from a third world country at the cost of 90 
m.u.  while the cost price of the ton on the local market is 107 m.u. 
a) Specify two economic consequences resulting from the competition of imports towards the local 

agriculture production, in case the government adopted a neutral position towards the agricultural 
sector . (½ point) 

b) Name the policy that would be appropriate to remedy to the situation in case the government decided 
to interfere.            (½ point) 

c) Mention a positive and a negative consequence of the government intervention.                   (1 point) 
2) A food production company took the decision to merge with a company producing plastic and glass containers: 

a) Determine the type of this decision and justify your answer.      (½  point) 
b) Mention the level on which this decision was taken and the skills required to take it.   (½ point) 
c) Specify the objective of this decision at the level of the company.     (½  point) 

3)  A country adopting total freedom in the foreign exchange market is suffering from economic and social 
problems: 
a) Specify an economic objective for this principle.      (½ point) 
b) Mention the negative effect of this principle on the economic level.     (½ point) 

4) An investor is considering the following project:  
The production of computers which requires, according to a feasibility study, the following:  
Cost of land and building: 150,000 u.m.    Technical equipment: 50,000 u.m. 
The duration of this project is five years and it requires the following costs: 
First year Second Year Third Year Fourth Year Fifth year 

100,000 m.u. 150,000 m.u. 200,000 m.u. 200,000 m.u. 220,000 m.u. 
The investor expects revenues of 200,000 m.u. the first year. Starting the second year, he expects the annual 
revenues to increase by 10% every year compared to the previous year.  
If the annual interest rate is 5% determine if the project is feasible. Justify your answer.          (1½ points) 
5) The following are the financial information of an enterprise : 

Investment = 13,000,000 m.u. 
Maximum capacity of production: 6,500 Ton /year. 
Variable cost per unit produced = 913 m.u. 
Total fixed cost = 2,242,500 m.u. 
Total revenues = 12,350,000 m.u. 
a) Calculate the break even point of this enterprise.      (½ point) 
b) Calculate the profitability rate corresponding to the maximum capacity of production.       (½ point) 

Part two-Choose one of the following sets 
First set: Analyzing texts and documents     (12 points) 
 

Document no. 1 : 
Price index:  
December 2005 – December 2006 : Increase 
of 5.6% 
 
Foreign Trade in 2006: 
- Exports : 3,442 billion LL 
- Imports : 14,172 billion LL 
Source : Administration Centrale de la 
Statistique, République libanaise, Présidence 
du Conseil des Ministres, 2006 

Document no.2: Real GDP Growth rate 

 
Source : Lebanon Economic Report, 1st quarter 
2007, Bank Audi 



 

 
Document no.3: (…) The government has embarked on a series of financial reforms. These included stimulating 
growth, privatization, public finance reform and debt management and financial market reform measures. The 
growth-enhancing structural reforms have covered developing competition regulation, consumer protection, small 
and medium enterprises support. (…) 
Under public finance and public debt management, the government established the Large Taxpayer's Office, and 
introduced new reforms for tax and public finance management.   
Source: “International Conference for Support to Lebanon”, 25 January 2007, Lebanese Republic, Ministry of Finance. 
 
Referring to the above documents, answer the following questions: 
1)   a- Define the economic problem reflected by the increase of the price index mentioned in document no. 1 
             (1 point) 

b- Mention the direct consequence of the Import-Export situation and justify your answer.  (1 point) 
2) Deduce the phases of the economic cycle which the Lebanese economy went through from year 2003 to year 
2006 and justify your answer.          (1½ point) 
3) Explain the two effects of privatization on public finance reform.     (1 point) 
4) Explain the relation between the situation of the foreign trade and the GDP growth rate in 2006. (1 point) 
5) Referring to document no 3: 

a- Extract the structural reforms aiming towards enhancing growth.    (½ point) 
b- Mention an economic measure adequate for the implementation of each of the structural reform.  (1½ points) 

6) Referring to the documents write a text in which suggest the adequate economic policy to overcome all the 
economic problems reflected by documents no 1 and 2 mentioning :  

 - The position of the Lebanese economy in the economic cycle. 
 - Three measures within this policy. 
 - The relation between the problems, the suggested measures and the required objective.                   (4½ points)  
 
Second set: Studying an economic subject   (12 points) 
 
Document no.1: Referring to the national report presented 
by Lebanon to the international population and 
development conference held in 1994, the unemployment 
rate increased 20% of the labor force in 1991; this rate 
includes essentially those who lost their job during the 
war. The International Labor Organization States that the 
unemployment rate in Lebanon in 1996 varied between 
14 and 16%. 
The discrepancy existing in the labor market and in the 
jobs' demand is caused by the mismatch between the 
educational system and the needs of the economic 
sectors, the severe decrease in the level of real salaries 
which was affected by inflation, the reduction of the 
social subsidies and the deterioration of the public 
services (..) 
Source: website of Al Intekad magazine.   
 

Document no.2: 
Most recent research related to the next generation of 
manpower show that the international labor force will be 
distributed as follows: 
a- At the international level, a group having the best 
skills and qualifications and constituting the base of any 
project. The members of this group could expect 
obtaining secure jobs, very  high salaries, to progress in 
their jobs, have a good social position and international 
expectations (10-15%) 
b- A group of employees of a lesser lever counting on 
less secure contracts and having a lower level of skills, 
employment security and opportunities. (30-40%) 
c- A bigger group of non qualified persons which would 
obtain non organized jobs at very low salaries because of 
the competitiveness of workers living abroad and able to 
attract their jobs at any time: (50%) 
Source: ۲۸ص  ۲۰۰۱العولمة واسواق العمل في منطقة الاسكوا أیار     

 
Referring to the two documents and to your acquired information, discuss in an essay the problem of the 
Lebanese labor market suggesting the following: 

- Two adequate policies to overcome the existing discrepancies. 
- A measure within each suggested policy. 
- Two measures to improve the qualification of the Lebanese labor force so that it is 

able to satisfy the requirements of the international labor market and integrate the 
best qualified group. 

 
Remark: Neat presentation (½ pt), Handwriting (¼ pt), Style (¼ pt).  



 العادیة ۲۰۰۷دورة سنة           التربیة والتعلیم العالي وزارة
 مسابقة الاقتصاد     العامة للتربیة المدیریة

 أسس التصحیح     الامتحانات دائرة
    

       لزامیة :الإالمجموعة الأولى  
۱-   

 نقطة لكل نتیجة) ٤/۱(      القدرة التنافسیة للانتاج الزراعي المحلي. ↓ - .أ 
 مردود الزراعي.ال ↓ -
 الاستیراد للمنتوجات الزراعیة. ↑ -
 الطلب على المنتوجات الزراعیة المحلیة. ↓ -
       عجز في المیزان التجاري الزراعي. -

 نقطة) ۲/۱(        السیاسة الحمائیة. .ب 
      المردود الزراعي. ↑ -: النتیجة الایجابیة .ج 

 توجیھ الاستثمار. -  
 المحلي. للإنتاجسیة تعزیز القدرة التناف -  

 الطلب على المنتوجات الزراعیة المحلیة. ↑ -    
 نقطة) ۲/۱(   تخفیض العجز في المیزان التجاري. -   

 الخوف من المعاملة بالمثل. -   النتیجة السلبیة:       
 نقطة) ۲/۱(   المنافسة. إفسادأو  لیات السوقاأو إفساد -     
۲-  

 شامل كل المنشأة -التبریر:  نقطة) ٤/۱(قرار استراتیجي  .أ 
 نقطة) ٤/۱(  .على المدى البعید (الطویل) -

 نقطة) ٤/۱(  المھارة: فكریة، تحلیلیة، تجریدیة. نقطة) ٤/۱. (العلیا الإدارة .ب 
  الكلفة ↓ - .ج 

 القدرة التنافسیة. ↑ -
 نقطة) ۲/۱(         .الإنتاجیة ↑ -

۳-  
 جذب الرسامیل الأجنبیة. – .أ 

 نقطة) ۲/۱(       جنبي. تعزیز الاستثمار الأ -
 مضاربات نقدیة. – .ب 

 نقطة) ۲/۱(      تدھور سعر صرف العملة الوطنیة. -
٤-          

 ٥ ٤ ۳ ۲ ۱ صفر السنوات
 ــــ ــــ ــــ ــــ ــــ Io ۲۰۰۰۰۰قیمة الاستثمار 

 ۲۲۰۰۰۰ ۲۰۰۰۰۰ ۲۰۰۰۰۰ ۱٥۰۰۰۰ ۱۰۰۰۰۰ ــــ النفقات
 ۲۹۲۸۲۰ ۲٦٦۲۰۰ ۲٤۲۰۰۰ ۲۲۰۰۰۰ ۲۰۰۰۰۰ ــــ الإیرادات

 ۷۲۸۲۰ ٦٦۲۰۰ ٤۲۰۰۰ ۷۰۰۰۰ ۱۰۰۰۰۰ ــــ الدفقات المالیة
 ۱     ۱ معامل الرھننة

   = ۰٫۹٥۲ 
)۱+۰٫۰٥( 

۰٫۹۰۷ ۰٫۸٦۳ ۰٫۸۲۲ ۰٫۷۸۳ 

 ٥۷۰۱۸٫۰٦ ٥٤٤۱٦٫٤ ۳٦۲٤٦ ٦۳٤۹۰ ۹٥۲۰۰ )۲۰۰۰۰۰( القیمة الحالیة
V0   =)۹٥۲۰۰  +٦۳٤۹۰  +۳٦۲٥٤٤+  ٤٦۱٥+  ٦٫٤۷۰۱۸٫۰٦( – ۲۰۰۰۰۰  =۱۰٦۳۷۹و.ن. ٫٤٦ 

 یما أن القیمة الحالیة للدفقات المالیة المتراكمة إیجابیة یعتبر ھذا المشروع مجدیاً وینصح بھ.
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لاحتساب القیمة الحالیة للدفقات المالیة  )٤/۱( –) لاحتساب القیمة الحالیة ۲/۱( –نقطة) لاحتساب الایرادات  ۲/۱(
 ) للاختیار والتبریر.٤/۱( –المتراكمة 

  . أ -٥
VPm

FQ0 −
= 

  .m.u1900
6500

12350000Pm  نقطة) ۱/٤(      ==

       
9131900

2242500Q0 −
 نقطة) ۱/٤(     =

              = 2272.03 T 
 الربح           ب .   

 ۱۰۰ ×     =  مردود الاستثمار
 الاستثمار كلفة      

 التكالیف – الإیراداتالربح = 
 و.ن. ۱٫۲۳٥۰٫۰۰۰=  الإیرادات

 إجمالیةمتغیرة  + كلفة إجمالیةكلفة كلیة = كلفة ثابتة 
     =۲۲٤۲٥۰۰  +٥۹۳٤٥۰۰ 
 و.ن. ۸۱۷۷۰۰۰ =   

 ۸۱۷۷۰۰۰ – ۱۲۳٥۰۰۰۰=  الربح 
 نقطة) ٤/۱(      و.ن. ٤۱۷۳۰۰۰=  

             ٤۱۷۳۰۰۰۰  
  نقطة) ٤/۱(  ٪ ۳۲٫۱=   ۱۰۰ ×   مردود الاستثمار =    معدل 

           ۱۳۰۰۰۰۰۰ 
 :  تحلیل مستندات اقتصادیةالاختیاریة المجموعة  الأولى

 (نقطة واحدة) التضخم المالي / ارتفاع كلفة الإنتاج / انخفاض القدرة التنافسیة أ.  – ۱
 نقطة) ٤/۱(  من الواردات  >  الصادرات )٤/۳( ب. عجز في المیزان التجاري

 ملیار ل.ل. ۱٤۱۷۲ >ملیار ل.ل.   ۳٤٤۳        
 نقطة) ۲/۱(    ٪ ٦ إلى ٪٥ارتفع النمو من   نمو  ۲۰۰٤ ←  ۲۰۰۳  – ۲

 نقطة) ۲/۱( ٪ ۱ إلى ٪ ٦النمو من  ↓انكماش   ۲۰۰٥ ←  ۲۰۰٤
 نقطة) ۲/۱( ٪ ٥ - إلى ٪ ۱النمو من  ↓  كساد  ۲۰۰٦ ←  ۲۰۰٥

 لأن خصخصة المنشآت العامة: - ٣
 نقطة) ۲/۱ت التي تقع ضمن موازنتھا.  (تخفض عن عاتق الدولة الكثیر من النفقا -
 نقطة) ۲/۱(  تحقق موارد مالیة للدولة من المنشآت التي خصخصتھا. -

 و الأجنبیةالطلب على السلع  ↑  ←الاستیراد بالنسبة للتصدیر  ↑وضع التجارة الخارجیة:  -٤
 النمو. ↓ ← المحلي الإنتاج ↓ ←الاستثمار المحلي  ↓ ← الطلب على السلع الوطنیة ↓   
 نقطة) ٤/۱(   نقطة) ٤/۱(  نقطة) ٤/۱(   نقطة) ۱/٤( 

 تطویر قواعد المنافسة - أ.  -٥
 حمایة المستھلك. -
 نقطة) ۲/۱(      دعم المشاریع الصغیرة والمتوسطة. -

یة / تحتال تطویر البنىسوق تنافسیة. توفیر مناخ ملائم لجذب الاستثمار ( تطویر قواعد المنافسة: توفیر - ب.   
 المھني) الإعدادتطویر البحث العلمي / تطویر 

 / تحدید ھامش الربح الأساسیةالسلع  أسعار حمایة المستھلك: تحدید بعض-
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الخاصة  والإجراءاتكل وسائل الحوافز المالیة والضریبیة  دعم المشاریع الصغیرة والمتوسطة: -
 نقطة لكل اجراء) ۲/۱(       .والمتوسطة بالمنشآت الصغیرة 

 (نقطة لذكر السیاسة)    سیاسة: النھوض الاقتصادي عبر تعزیز القدرة التنافسیة  -٦
 نقطة) ٤/۱(        الوضع: كساد اقتصادي 
 المنشآت الاقتصادیة على التجدید في آلاتھا ومعداتھا. بإجبارتوفیر سوق تنافسیة الكفیلة  -وسائل:  
 ثبیت أسعار عناصر الإنتاج.ت ←مكافحة التضخم المالي  -  
 الأعباء الضریبیة والاجتماعیة عن كاھل المنشآت الاقتصادیة. ↓ -  
 تثبیت الأجور. -  
 نقطة لكل وسیلة) ۲/۱(   معدلات الفائدة على القروض المعدة للاستثمار. ↓ -  

 الھدف الوسیلة المشكلة
 ارتفاع مؤشر الأسعار  -
 الإنتاجكلفة  ↑(تضخم مالي)   
 القدرة التنافسیة ↓  
 عجز في المیزان التجاري -
 يالكساد الاقتصاد -
  

مكافحة التضخم المالي من أجل  -
 الإنتاجعناصر  أسعارتثبیت 

 .الأجورتثبیت  -
تخفیض الفوائد على القروض  -

 المعدة للاستثمار.
تخفیض الأعباء الضریبیة -

 والاجتماعیة.
 
توفیر السوق التنافسیة الكفیلة  -

جبار المنشآت التجدید في آلاتھا بإ
 ومعداتھا.

 
 
 
 
 
 

 
 
 

 كلفة  ↓
 الإنتاج 

 
 
 
 
 

 القدرة التنافسیة ↑
 
 ⇓ )٤/۱( 
 

 الطلب على الاستھلاك ↑
 ⇓ )٤/۱( 

 الاستثمار ↑
 ⇓ )٤/۱( 

 الإنتاج ↑
 ⇓  
 

 )۲/۱( نمو اقتصادي

 
 
 

 
 الإنتاجیة ↑

 

 
(نصف نقطة لربط المشكلة بالوسیلة)         
  

 معالجة موضوع اقتصادي:  الثانیة الاختیاریةجموعة  الم
 نقاط: للمضمون نقتطان، للمنھجیة نقطة واحدة) ۳: (المقدمة -۱

اولاً: ینال الطالب العلامة الكاملة على المنھجیة عند ذكره الإشكالیة والنقاط الأساسیة التي یعالجھا في 
 المضمون.
 ذكر النقاط الأساسیة (نقطة واحدة) المضمون:

 أوضاع سوق العمل اللبناني. - یتضمن: -  
 توزع فئات القوى العاملة العالمیة للجیل المقبل من الید العاملة. -    
 : (نقطة واحدة)الإشكالیة -    

اللبنانیة وجعلھا تواكب مكن للدولة ان تواجھ الاختلال في سوق العمل یمثلاً: كیف   
 متطلبات سوق العمل العالمي؟

 نقاط للمضمون) ٦نقاط) (نقطة للمنھجیة و  ۷: (وعجسم الموض – ۲
  المنھجیة: (نقطة)

 ینال الطالب النقطة الكاملة على المنھجیة عند:
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 المناسبة.  عرض الفكرة الرئیسیة في بدایة الفقرة وإثباتھا بالحجج والبراھین –نقطة)  ۲/۱(
 ربط الفقرات بجملة إنتقالیة. –نقطة)  ۱/٤(
 تسلسل الأفكار وفق الخطوات المطروحة في المقدمة.مراعاة  –نقطة)  ۱/٤(

 نقاط) ٦المضمون: (   
 ذكر السیاستین لمعالجة الاختلال في سوق العمل اللبناني. –أ 

 : یذكر الطالب أي واحدة من السیاسات التالیة لمعالجة البطالة الظرفیة.لمعالجة البطالة الظرفیة
 الوسیلة السیاسة

 السیاسة الكلاسیكیة -
 
 
 سیاسة الحفاظ على فرص العمل القائمة -
 
 
 
 سیاسة خلق فرص عمل جدیدة في القطاع الخاص -
 
 
 
 
 السیاسة اللیبرالیة الحالیة لمكافحة البطالة -
 
 
 
 سیاسة تعزیز القدرة التنافسیة للانتاج الوطني -
 

استحداث مؤسسة أو وكالة وطنیة للاستخدام لھا مكاتب في -
 مختلف المناطق

 

 م المالي، أو النقديالدع -
 أو
 تأمیم المنشآت الاقتصادیة الكبیرة المعرضة للافلاس والاقفال-
 
 منح قروض میسرة للمنشآت التي تخلق فرص عمل جدیدة-
 منح اعفاءات ضریبیة للمنشآت التي تخلق فرص عمل جدیدة.-
 

 تثبیت الاجور-
أو تثبیت لأسعار من اجل تخفیض  مكافحة التضخم المالي-

 منھا كلفة الانتاج ر التي تتألفالعناص
 
 تخفیض معدلات العائدة المعدة للاستثمارات -
  تخفیض الاعباء الضریبیة والاجتماعیة-

 لمعالجة البطالة البنیویة  -
 السیاسة

 
 الاجراء

 السیاسة الناشطة في مجال الید العاملة
 

إعادة تأھیل العاطلین عن العمل لاكتساب المھارات التي یتطلبھا 
 سوق العمل.

 نقطة لذكر كل إجراء ۲/۱ نقطة لذكر كل سیاسة ۲/۱
وسیلتان تؤدیان الى تحسین مؤھلات القوى العاملة اللبنانیة لتواكب متطلبات سوق العمل العالمي. وتنخرط ضمن  -

 المجموعة المتمتعة بأحسن المھارات: 
 ي العالي.نفقات الدولة المخصصة للإعداد والتدریب المھني الفن↑ -(نقطة) 
إخضاع القوى العاملة الذین ھم بحاجة الى تدریب وإعادة تأھیل والإعداد لاختصاصات جدیدة لاكتساب  –(نقطة) 

 مھارات جدیدة.
 )  (نقطتان)۲الربط بین الوسیلتین وبین المجموعة (أ) من المستند رقم ( -

 المحتوى: (نقطة ونصف) - نقطة) ۲/۱المنھجیة: (- الخاتمة: (نقطتان)
 المضمون: تلخیص الافكار التي وردت في جسم الموضوع المقدمة وتجیب عن الاشكالیة.
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